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And Rabi Yochonon said, etc. — 9917 72710 92 AN

OVERVIEW

1m " explained the reason it was necessary to establish the 71wn in a 7"77 (even
though the *93 is a PXw°2 n¥T 12 1XYW 127) is because there was a person involved in
the transference of the 78m W (to the *92) and therefore the rule of >";772 IR POO
Xnv applies (even by a nyT 12 PRW 127).
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The X713 could have cited that which >°yr answered regarding the rule that a
Y'"5wn by a ;771 makes a 2w 25w (for twenty four hours prior to her seeing a7), that-
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Even though the 2w 2ow» have no »8w"» nyT nevertheless they are xnv when

her friends carry the 771 in the bed, the same would apply here. mpoIn offers no
explanation here.’

SUMMARY
Here it is more than 27X »7°2 X273 AXMW; since the 172 is holding the 120 even °v7
will agree that it is PR ny7 12 W

THINKING IT OVER
Where is the 2Xw°% ny7 12 ww 127 more effective (to make it Rav); if it is by the
Xntn or by the Xnv17 1272°

' The rule is that a 7171 is ¥79n% Xnun (before she actually saw a7) for a ny> nyn anything that she touched (for the
oo were concerned that perhaps she became Xnv before she actually realized it). The rule is (therefore) that if a
771 was lying in a bed, the bed receives the status of 7771 20wn (which can be 0°231 078 Rnvn) up to a ¥"%¥n prior to
her becoming a 7171. The X713 asked (since it is a po0 whether she was &nv for the prior ¥"2¥n) why is the bed xnv
since the bed is a N¥7 12 PRW 127. *°¥7 answered that we are discussing a case where her friends were carrying her in
the bed so they are like the bed and since they have X% ny7 the bed is &»v. The X713 continues that according to
11m® who maintains 7°9¥ 1°2RWI DR *7°2 X827 IR0 250 the bed will be Xnv even if no one is carrying it since the 773
is PR NYT 72 w° 80 it is a DR V72 IRAT ARMD.

2 moon is asking why was it necessary to cite 73m "1 who is " (that even if it is just D78 "'y X2 it is 79y PIRWYY),
even according to 7’71 who is 2’71 and requires that a person has to be actively holding the &nw »n 927 (her friends
need to be carrying the bed), nevertheless here it will be considered here as a 1"y PPXwiw 127 since the 175 is holding
the 120 (which is the equivalent of her friends carrying the bed).

? See mPMManws 77 2,7 7173 MPOIN for some explanations.

4 See X"y7 "1 in 7°NNANWD 2,7 A7, WYL
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